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3-3-2 IQ

IQ

12 39.2 16.77 42.2 33.55 68.5 14.19

15 48.6 13.74 44.5 27.93 68.0 10.42

40 31.8 29.04 35.1 32.59 61.6 10.20

19 15.7 39.02 19.7 27.13 62.1 8.66

15 34.4 24.34 22.6 24.70 74.5 13.20

13 23.4 30.32 33.8 19.60 62.1 11.13
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IQ50 116 99 17 16.7±1.00
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IQ

IQ

3-3-4

3-3-3



3-3-4

Pearson .303(**) .295(**) .476(**) .272(**) .335(**)
( ) .001 .001 .000 .003 .000

N 115 116 116 116 116
** 1% * 5%

3-3-5

3-3-5

F
12 20.3 2.84 15 25
15 21.5 2.62 14 25
40 21.0 3.52 13 26
18 20.1 3.65 11 25
15 20.9 3.29 13 26 F = 0.444
13 20.4 3.57 16 27 = 0.817
113 20.8 3.31 11 27
12 19.3 0.89 17 20
15 18.9 2.53 10 20
40 19.0 1.52 14 20
19 18.4 2.24 12 20
15 19.2 1.08 17 20 F = 0.554
13 18.9 1.44 15 20 = 0.735
114 18.9 1.71 10 20
12 13.8 2.70 7 17
15 13.9 3.38 7 17
40 12.7 3.24 4 17
19 12.2 4.29 3 17
15 14.7 1.62 12 17 F = 1.533
13 12.9 2.30 7 16 = 0.186
114 13.2 3.20 3 17
12 7.8 0.39 7 8
15 7.9 0.26 7 8
40 7.6 0.93 4 8
19 7.9 0.32 7 8
15 7.7 0.46 7 8 F = 0.913
13 7.7 0.63 6 8 = 0.476
114 7.8 0.65 4 8
12 7.6 0.52 7 8
15 7.5 0.74 6 8
40 7.2 0.95 3 8
19 7.1 0.66 6 8
15 7.6 0.51 7 8 F = 2.195
13 6.9 0.90 5 8 = 0.06
114 7.3 0.81 3 8
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116 36 ±4 15

3-3-6 3-3-2 50 99

3-3-6

3 4

4 5

5 6

6 7

7 8

8 9

9 10

10 11

11 12

12 13

13

3-3-2

IQ

IQ



r= -0.029 p=0.759

r= 0.348 p<0.000 IQ

IQ

3-3-7

F

12 23.9 12.07 5 43
15 23.3 14.21 7 54
40 31.2 29.35 0 136 F

.47119 29.0 17.51 6 58 = 0
15 33.1 34.84 4 137

.79713 33.1 19.81 6 69 = 0
114 29.5 24.29 0 137
12 472.4 309.29 235 1325
15 417.5 147.62 202 670
40 441.8 232.40 155 1430 F
19 386.3 204.90 160 931 = 1.404
15 601.9 356.50 274 1597

.22913 483.5 286.87 162 1305 = 0
114 458.4 256.60 155 1597

3-3-7



3-3-3

3-3-3

10

116



…… ……

2004

50 116 99

17 16.7±1.00

20 40 × ×

32 p.10

128 3-3-8

IQ

65 IQ50



3-3-8

86.0 66.5

84.4 14.8 0.3 0.6 76.4 5.7 9.2 8.7
0.4 98.1 0.8 0.7 4.3 74.1 4.7 16.8
0.8 1.1 85.5 12.7 6.3 5.1 76.3 12.4
0.6 13.9 9.8 75.8 7.9 21.9 31.1 39.1

85.0 61.6

99.8 0.2 - - 88.3 4.2 5.1 2.5
1.1 81.2 5.5 12.3 8.1 41.9 22.0 28.0
0.1 21.0 72.5 6.5 1.1 10.6 72.8 15.5
- 0.5 14.8 84.7 3.9 6.7 46.0 43.4

95.0 73.2

98.6 0.7 0.3 0.4 88.8 3.3 4.0 3.9
0.1 95.5 1.1 3.3 5.4 70.6 5.8 18.1
0.2 0.6 91.7 7.5 4.4 2.8 82.7 10.1
0.2 2.6 4.3 92.9 3.0 11.6 34.7 50.6

3-3-9

1996

3-3-9

0.4 98.1 0.8 0.7 4.3 74.1 4.7 16.8
1.1 81.2 5.5 12.3 8.1 41.9 22.0 28.0
0.1 95.5 1.1 3.3 5.4 70.6 5.8 18.1



3-3-10

3-3-10

.077 -.146Pearson

.413 .118( )

.007 -.164Pearson -

.937 .079( )

.008 -.132Pearson

.931 .159( )

3-3-11

3

-3-4 3-3-5



3-3-11

F

12 71.3 8.41 59 88
15 74.7 6.24 63 88
40 67.2 10.29 38 88
19 70.0 10.35 47 84 F

= 2.58515 75.6 8.07 59 91
13 71.2 8.75 56 84
1 = 0.03014 70.6 9.56 38 91
12 66.0 11.20 41 78
15 73.8 5.76 66 81
40 61.2 13.25 34 91
19 69.2 10.42 50 88 F

= 4.18315 74.0 9.06 50 88
13 65.0 13.45 38 84
1 = 0.00214 67.0 12.15 34 91
12 75.6 8.80 59 88
15 87.0 10.54 66 100
40 75.8 10.59 47 94
19 78.7 7.96 59 91 F

= 3.53115 81.5 7.45 69 91
13 78.1 9.55 53 88
1 = 0.00514 78.8 10.04 47 100

3-3-4



3-3-5

IQ50 116

McAlpine, C., Kendall, K. & Singh, N.N., 1992 2003




